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)
14. (a) 1000 meters = akilometer (d)y 0.01 meter = acentimeter oNE
(b) 0.1 gram = adecigram (e) 0.001 liter = a milliliter 15.67
(¢) 0.000001 liter = amicroliter 281
(b) (4.68)(12.5) = 58.5
18. (a) 63,000 zeros are not significant 182.6
(b) 6.004 zeros are significant (c) —= =40X 10! or 40.
(¢) 0.00543 Zeros are not significant 4.6
(d) 8.3090 zeros are significant (d) 1986
19.  Significant figures 2.8
(a) 0.025 2) (¢) 0.0404 (3) _____0'012
(b) 224 (3) d 550 % 103 3) 2009.852 = 2010. = 2.010 X 10
. . 29.3 4
Round to three significant figures (e) IR 2.49 X 10
) 8.87 (©) 130. (1.30 X 10%) (284)(415)
by 213 (d)  2.00 x 10° €) (292 x 1073)(6.14 X 10°) = 1.79 X 10°
Exponential notation 212 — 32
2.9 % 10° (c) 840 X 1073 30. (@ x= RETEE (©) 72 = 18x + 32
hy 587 X 1071 —6 '
nsTo @ 5510 x = 1.0 X 10 72 - 32 = 1.8x
40.90
(b) 8.9% = g 40. = 1.8x
g 40.
8.9— |x = 40. e
( 9mL>x 090¢g T
4090 g
x = = 4.6mL 22 =x
895

mL



34. (a) The conversion is: m — cm > in. —> ft

100cm)/ lin _1_11) 17
(35-6m)<TnT>(2.54 cm>(12in-

1mi .
= 10.3mi
b (165 km><1.609 km>

2.54cm '\’ lOmm)3 B 4.3
LogyfeRaem AT ) = 7.4 X 107 mm
(¢) (4.5in. )( Lin. ) ( 1 em

453.6¢g 4
) (951b)< i ) =43 x107g

40.  The conversion is: mi = km—>m —s

93 million miles = 9.3 X 107 mi

1.609 km \ / 1000 1
(9.3 X 1o7mi)<~ , m)<7 m)( : ) =50 % 10%s

mi Tkm /\3.00 X 10°m

$

47. The conversion is; ——>——>——3§
L qt gal

($O35>(0946L)(:4qt>(158gd)::$21
1L 1qt 1 gal ’
3 .
54 (161n.)(8 in.)(]Oin.)(sz;n}) (lOOloLmL><O.;f6tL><%l?> = 6gal

78.26
Iy R A
A\ 50.00 mL mL




